SUBTRACTING UP TO 1 000 000 WITH CARRYING (H - SET 5)

TEST 3

Name:

Time: Score:

0735741 — 532069 =

2 439163 — 283322 =

39 516222 — 312425 =

1 BRETT9 — 87522 =

5 968313 — 152357 =

6 511476 — 25014 =

N 885936 — 623971 =

9 680063 — 511924 =

9 319907 — 255431 =

1) 920238 — 644056 =

1) 6540325 — 4577618 =

12) 7710557 — 6949184 =

13) 610387 — 140719 =

1535397 — 106641 =

15 471119 — 200072 =

Mathematics: Subtraction - Level 8 - Horizontal - Set 5
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862738 — 396216 =

654751 — 9583 =

568700 — 430409 =

922467 — 400883 =

486703 — 13399 =

268572 — 260023 =

662676 — 506211 =

9488836 — 4355847 =

9893487 — 2166009 =

763065 — 679109 =

764756 — 666054 =

782661 — 77702 =

668433 — 128755 =

982262 — 766583 =

753861 — 339321 =
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